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2023(R5)FEFE 1 HA (RITHA) HIM ACV:/?//)T ,r _/_\ iFZ 2023/03/8 9:00kk 1

time
ER 9 12 15 18 19 20 21 22 24 B
3/ M <R&D =
2780 AlU ATFUR <TPY-QAi=
L : <R&D =
M : R&D> <R&D =
28H K| U iHe/C/0/Ne,56-430NIRRmax) TPY—QA> <TPY (C,56—430,NIRR,max) TPY>! i<R&D =
L R&D> <R&D R&D> <R&D =
M R&D> <R&D =
29H K| U i ER &R R&D> <TPY (C,56-430,NIRR,max) TPY>: i<R&D =
L R&D> <R&D R&D> <R&D =
M R&D> <R&D =
308 K| U AR EER R&D> <TPY (C,56-430,NIRR,max) TPY>: i<R&D =
L R&D> <R&D R&D> <R&D =
M R&D> <R&D =
31H £( U SRR Edr R&D> <TPY (C,56-430,NIRR,max) TPY>: i<R&D =
L R&D> ' ; { <R&D _ =
4/ M s
1H T(U
L
M
28 =18
(M <446 =
3H Allu <TPY-QAi=
L <PIB = |lPIB:005
M i(H,6,MEXP,max): 446> < =
48 W U iHe/C/0/Ne 56-430NIRRmax) TPY—QA> <TPY (C,56—430,NIRR,max) TPY)! K =
L :(H,100,BI0C,Amax) PIB> <PIB (C,290/400,BI0C,max) PIB> <EE = |PIB:335
M = <IEE =
58 K[ U > <TPY (C,56—430,NIRR,max) TPY>: KIFRE =
L > <PIB (C.290/400,BI0C max) PIB> <t = ||PIB:335
M = <fFHE =
68 KU > <TPY (C,56—430,NIRR,max) TPY>: KIEFRE =
L > <PIB (Xe,290,BI0C,Amax) PIB> = = |PIB:095
M =
7H & U > (C,56-430,NIRR max)
L
M
8H Tju:
L
M
98 Alu
L




iF [ BA (BT S .
2023(R5)FEFE 1 HA (RITHA) HIM AC?“/ _//5( ,r _/_\ iFZ 2023/03/8 9:00f% 2
time
fEH 0 3 6 8 9 12 15 18 19 20 21 22 24 HE
4/ M 1 =
10H Alu <TPY (C,56—430,NIRR,max) TPY> KIEH =
L <EER = ik =
M > <HEH =
118 x| U > <TPY (C,56-430,NIRR,max) TPY>: KIFRE =
L > <480 (H.100,PH1 faint) 480> <tk =
M = <fFHE =
12H K[ U > <TPY (C,56-430,NIRR,max) TPY>: KIEFRE =
L > <480 (Xe,200,PH1 faint) 480> <fFHE =
M = <fFHE =
138 NI = <TPY (C,56-430,NIRR max) TPY>: e =
L 3 <PIB (Xe,290,BI0C,Amax) = |PIB:095
M <R&D
148 £(u <R&D SR E
L i<R&D i
M :
158 t|u
L
M
168 A|u
L
M
178 Alu <TPY-QAi=
L <PIB+Bio = |PIB:212/446
188 W U iHe/C/0/Ne 56-430NIRRmax) TPY—QA> <TPY (C,56—430,NIRR,max) TPY)! K =
L {(He,150,BI0C,Amax) PIB+Bio> <PIB+Bio (C,290,BIOC,max) PIB+Bio> <EEHE = |PIB:451
M HH <HEHE =
1980 K[ u > <TPY (C,56-430,NIRR,max) TPY>: KIFRE =
L %> <PIB (C.400,BIOC,max) PIB> <t = ||PIB:481
M = <fFHE =
20H K[ U > <TPY (C,56—430,NIRR,max) TPY>: KR =
L > <Bio (Fe,500,BI0C,Amax) Bio> <fFHE =
M = <446 =
218 £/u =T <TPY (C,56-430,NIRR,max) TPY>! i<J001 =
L L fFt>:  ©  <Bio =
M i(He,6,MEXP,max) :
228 1| U i(He/C/0/Ne,56-430,NIRR max)
L £(C,290,BI0C,max)
M
238 AH|u
L




1 HA (Y ~ .
2023(R5)FEFE 1 HA (RITHA) HIM AC?“/ _//5( ,r A iFZ 2023/03/8 9:00f% 3
time
EH 0 7 8 9 12 15 18 19 20 21 22 24 ExE
4/ M i <028 =
248 Alu <TPY (C,56-430,NIRR,max) TPY>! <028 =
L TR D <PIB+Bio = |PIB:377
M i(He/C/0O/Ne,6,MEXP,max) 028> <fFHE =
25H || U i(He/C/O/Ne 56-430NIRRmax) 028> <TPY (C,56—430,NIRR max) TPY>! IR =
L i(He,150,B10C,Amax) PIB+Bio> <PIB+Bio_(C,290,BIOC max) PIB+Bio> <R = |PIB:451/320
M = <fFHE =
268 k(U > <TPY (C,56-430,NIRR,max) TPY>: <IEH =
L > <443 (46Ti,700,PH2 faint) 443> <fFHE =
M = <fFHE =
278 PNV > <TPY (C,56-430,NIRR,max) TPY>: i <fFHE =
L > <PIB (Xe,290,BI0C,Amax) PIB> PIEmE = |PIB:409
28H £| U > (C,56-430,NIRR max) TPY> S
L R > |
29H U :
L
M ;
308 =}V : :
5/ L RS i) =
18 A|U (C,56-430,NIRR,max) TPY> I =
L I = ifFRE =
M <fFHE =
2H x| U <TPY (C,56-430,NIRR,max) TPY>! KIEH =
L > <PIB+Bio (Ar,500,BI0C,Amax) PIB+Bio> RS = [PIB:483
3H #ifu (C,56-430,NIRR,max) TPY>
L :<PIB+Bio_(C,290,BI0C,max) : PIB+Bio PIB:426
4H U
L
M
58 U N
L
M
6H t|u: |
L
M
78 =18
L




iF [ BA (BT ~ o\ .
2023(R5)FEFE 1 HA (RITHA) HIM AC?“/ _//5( ,r _/_\ iFZ 2023/03/8 9:004kK 4
time
fEH 0 8 9 12 15 18 19 20 21 22 24 HE
5/ M i <446 =
8H Allu <TPY (C,56-430,NIRR max) TPY>! KTPY-QA =
L < =FH> <450 =
M :(C,6,MEXP,max): 446> I3 =
9H K| U iHe/C/0/Ne,56-430NIRRmax) TPY—QA> <TPY (C,56—430,NIRR,max) TPY>! R =
L {(H,230,PH1,Amax) 450> <238 (58Fe,500Nd,SB2,Amax) 238> <R =
M = I =
10H K[ U > <TPY (C,56-430,NIRR,max) TPY>: KR =
L > <238 (58Fe,500Nd,SB2,Amax) 238> <fFHE =
M = <fFHE =
118 AU =TT <TPY (C,56-430,NIRR,max) TPY>! K fEHE =
L k> <238 (58Fe,500Nd,SB2,Amax) 238> RS2 =
12H £ U > (C,56-430,NIRR,max) :
L k> (Fe,500,PH2,Amax)
130 (U
L
M
14H =18
(M <262 =
15H AU <TPY-QAi=
L <PIB+Bio = |lPIB:407
M i(H,6, MEXP,Amax) 262> <262 =
168 W U iHe/C/0/Ne 56-430NIRRmax) TPY—QA> <TPY (C,56—430,NIRR,max) TPY)! {<R&D =
L :(C,290,BIOC,max) PIB+Bio> <Bio (Fe,500,BI0C,Amax) Bio> <PIB+Bio = |PIB:481
M :(H,6, MEXP,Amax) 262> < =
178 IK|| U i(He/C/0/Ne 56-430NIRRmax) R&D> <TPY (C,56-430,NIRR,max) TRY>! K =
L {(C,290,BIOC,max) PIB+Bio> <PIB (H.160,B10C,Amax) PIB> <HE = PIB:320
M = <fFHE =
18H KU > <TPY (C,56—430,NIRR,max) TPY> KIFRE =
L (o = A =
M =
198 & U > (C,56-430,NIRR max)
L
M
20H t|u:
L
M
2180 Alu
L




1 HA (Y ~ .
2023(R5)FEFE 1 HA (RITHA) HIM AC?“/ _//5( ,r _/_\ iFZ 2023/03/8 9:00f% 5
time
EH 0 9 12 15 18 19 20 21 22 24 ExE
5/ M <R&D = iR&D =
22H A|uU <R&D SRR EER = iR&D =
L <R&D = iR&D =
M <FEH =
23H K| U SR EdR R&D> <TPY (C,56—430,NIRR,max) TPY>i KR =
L R&D> <PIB (C,290,BI0C,max) PIB> <EEHE = |PIB:457
M = <fFHE =
24H K[ U > <TPY (C,56-430,NIRR,max) TPY>: KIFRE =
L > <301 (58Fe,500Nd,SB2,Amax) 301> <fFHE =
M = <fFHE =
258 NI =TT <TPY (C,56-430,NIRR,max) TPY> e =
L 3 <301 (58Fe,500Nd,SB2,Amax) - =
M
268 (U (C,56-430,NIRR,max)
L 1<301 (58Fe,500Nd,SB2,Amax)
M : : :
278 t|u
L
M
28H AH|u
L
298 Alu <TPY (C,56-430,NIRR max) =
L el D = (PIB:474/476
M H <ﬁﬁ =
308 K| U i(He/C/0/Ne 56-430NIRRmax) 005> {TPY (C,56-430,NIRR,max) TPY>: KIEHE =
L :(Si,490,BI0C,Amax) PIB> <Bio (C,290,BIOC,max) Bio> <R =
M HH <FEH =
31H K[ U > <TPY (C,56-430,NIRR,max) TPY>: KR =
L > <PIB+Bio (C,290,BIOC,max) PIB+Bio> <fFHE = [PIB:426
6/ M > <t =
18 PNV > <TPY (C,56—430,NIRR,max) TPY> KR =
L (o 2 <PIB (C,400,BIOC,max) PIB> - = |PIB:461/476
M =
2H & U > (C,56-430,NIRR max) TPY>
L i k>
M : :
3H Tju:
L
M
48 A|u
L




iF [ BA (BT ~ o\ .
2023(R5)FEFE 1 HA (RITHA) HIM AC?“/ _//5( ,r _/_\ iFZ 2023/03/8 9:00f% 6
time
ER 9 12 15 18 19 20 21 22 24 =
6/ M <482 =
58 Alu AUTFUR <TPY-QAi=
L <Bio =
M :(Ne,6, MEXP,Amax) 482> R =
68 W U iHe/C/0/Ne,56-430NIRRmax) TPY—QA> <TPY (C,56—430,NIRR,max) TPY>! R =
L {(Ne,230,BIOC,Amax) Bio> <Bio (C,290,BI0C,max) Bio> <R =
M = I =
78 K[ U > <TPY (C,56-430,NIRR,max) TPY>: KR =
L (i) 2 <Bio (C,290,BIOC,max) Bio> <fFHE =
M = <fFHE =
8H PN = <TPY (C,56-430,NIRR max) TPY>! - e
L > (C,290,BI0C,max) =
M >
9R £| U > (C,56-430,NIRR max)
L
M
108 t|u
L
M
118 AH|u
L
L% =
128 Alu <TPY (C,56-430,NIRR,max) =
L <R BH> =
M <fFHE =
13H K| U SR EdR R&D> <TPY (C,56-430,NIRR,max) TPY>! KIEH =
L R&D> <475 (Xe,100,PH2,1e5) 475> <EERE =
M FEZ K3 =
14H K[ U > <TPY (C,56-430,NIRR,max) TPY>: KR =
L > <387 (C.180,PH1 faint) 387> <Ftk =
M = <fFHE =
15H K[ U > <TPY (C,56—430,NIRR,max) TPY>: KIFRE =
L 3 <387 (H,230,PH1 faint) 387> = =
M
168 £/ u (C,56-430,NIRR,max)
L 1465 (Fe,500,PH2faint)
M :
178 t|u:
L
M
18H A|u
L
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time
ER 9 12 15 18 19 20 21 22 24 BE
6/ M <262 =
190 A|U ATFUR <TPY-QAi=
L <465 =
M :(H,6, MEXP,Amax) 262> <262 =
208 K| U iHe/C/0/Ne,56-430NIRRmax) TPY—QA> <TPY (C,56—430,NIRR,max) TPY>! i<R&D =
L {(C,350,PH2 faint) 465> <290 (180,70Nd,SB2,Amax) 290> <397 =
M :(H,6,MEXP,Amax) 262> <IEi =
21H JK| U i(He/C/0/Ne,56-430NIRRmax) R&D> <TPY (C,56-430,NIRR,max) TPY>! KA =
L {(C,290,PH1 faint 397> <290 (180,70Nd,SB2,Amax) 290> <EERE =
M = <R =
22H AU =TT <TPY (C,56-430,NIRR max) TPY>! qEHE =
L k> <397 (C,350/430,PH1 faint) 397> RS2 =
23H £| U > (C,56-430,NIRR max)
L .
M
24H (U
L
M
25H Alu
L
26H Allu <TPY (C,56-430,NIRR,max) =
L FH> =
M K3 =
278 W U i(He/C/0/Ne,56-430NIRRmax) R&D> <TPY (C,56-430,NIRR,max) TRY>! <] =
L :(C,200,SB2,max) = 380 (C,200,SB2,max) 380> <EEE =
M FEZ Kl =
28H k(U > <TPY (C,56-430,NIRR max) TPY>: KIEH =
L > <Bio (Ar,500,BI0C,Amax) Bio> <FFtk =
M = TR =
29H KU > <TPY (C,56-430,NIRR,max) TPY>: <KFFHE =
L 1> <{Bio (C,29_0,BIOC,max) Bio> H =
M
30H £ U (C,56-430,NIRR,max) TPY>
L > :
7/ M :
18 F|U:
L
M
28 Alu
L




1 HA (Y ~ .
2023(R5)FEFE 1 HA (RITHA) HIM AC?“/ _//5( ,r .L\ iFZ 2023/03/8 9:00f% 8
time
EH 8 9 12 15 18 19 20 21 22 24 BEE
7/ M
3B Alu AUTFUR <TPY-QAi=
L <Bio =
M : <028 =
4H W U iHe/C/0/Ne 56-430NIRRmax) TPY—QA> <TPY (C,56—430,NIRR,max) TPY>! <028 =
L {(C,135,BI0C,max) Bio> <Bio (C,290,BI0C,max) Bio> <350 =
M (He/C/0O/Ne,6, MEXP,max) 028> <fFHE =
5H JK|[ U i(He/C/0/Ne 56-430NIRRmax) 028> <TPY (C,56—-430,NIRR,max) TPY>! IR =
L {(C,100,PH2,max) = 350 (C,100,PH2,max) 350> <fFHE =
M = <fFHE =
68 K[ U = <TPY (C,56-430,NIRR max) TPY> KiER =
L = ﬁ% i= ﬁ% =
M FH
78 £| U > (C,56-430,NIRR max)
L
M
8H t|u
L
M ;
98 Bl U : :
L% RS ] =
10H Allu <TPY (C,56-430,NIRR,max) TPY> I =
L = ik =
M HH < =
118 x| U = (C,56—430,NIRR,max) TPY>! KIE =
L > <138 (C,135,PH1,max) 138> <fFHE =
M HH <HEHE =
12H K[ u > <TPY (C,56—430,NIRR,max) TPY>: KR =
L > <138 (C.180,PH1,max) 138> <tk =
M = <IFHE =
13H PNV eI <TPY (C,56-430,NIRR,max) TPY>: KR =
L > <Bio (He,150,BI0C,Amax) Bio> <fFHE =
M = <J347 =
148 £/u = <TPY (C,56-430,NIRR,max) TPY>! KTPY-QAi=
L = i <450 =
M i(C,6,MEXP,max) J347>
158 1| U i(He/C/0/Ne,56-430,NIRR max) i TPY-QA>
L i(H,100,PH1,Amax) 450>
168 A|u
L




iF [ BA (BT S .
2023(R5)FEFE 1 HA (RITHA) HIM AC?“/ _//5( ,r _/_\ iFZ 2023/03/8 9:00f% 9
time
ER 12 15 B=
7/ M : :
170 U
L
M =
18H xju (C,56-430,NIRR max) =
L =
M > 3 =
1980 K[ U > <TPY (C,56-430,NIRR,max) TPY>: KIFRE =
L > <PIB (C,135,BI0C,max) PIB> <fFHE = [PIB:356
M = <fFHE =
20H NS =TT <TPY (C,56-430,NIRR,max) TPY): T =
L > <PIB (C,290,BIOC,max) PIB> <fFHE = [PIB:462
M = <J347 =
21H (U =T <TPY (C,56-430,NIRR,max) TPY>: <J001 =
L > (He,150,BI0C,Amax) 5 = ||PIB:457
M i(He,6, MEXP,Amax) H
22H 1| U i(He/C/0/Ne,56-430,NIRR max)
L {(C,290,BIOC,max)
(M
23H Alu
L
M
24H A|U FUR <TPY-QAi=
L <PIB+Bio = |lPIB:476
258 W U iHe/C/0/Ne 56-430NIRRmax) TPY—QA> <TPY (C,56—430,NIRR,max) TPY)! K =
L :(Ne,400,BI0C,max)  PIB+Bio> <PIB (Kr,400,BIOC,Amax) PIB> <HE = |PIB:454
M = <IEE =
26H k(U > <TPY (C,56-430,NIRR,max) TPY>: KIEH =
L > <Bio (C.290,BI0C,max) Bio> <Ftk =
M = <fFHE =
2780 K[U = <TPY (C,56-430,NIRR,max) TPY>: KIFRE =
L = <Bio (Fe,500,BIOC,Amax) Bio> R B =
288 & U > (C,56-430,NIRR max) P
L
M
29H t|u:
L
M
30H AU
L




1 HA (Y ~ .
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